By EbAE 106 ZFEHFALTHE—BASZTEIAE

% (A7) &%) MHB A

F+ B & F£1EH #£1E&
O MR8 3 54

13544 Fisher i X H A B AF @ RARERELM MR35 - (5%)

I\)

EEREEARE > RO R & R (Keyne’s conjecture) & ¥ #A 3£ 4% 42 ! (intertemporal choice model)3#
X FTHAREHBARRTANEE (10%)

(1) At

(2) #IT M 1%

3.EFRBHEAMTEFS BRAD RE - WL Solow Growth Model » E& L TF B (15%)
() FF et 5 EHHH T GDP &k £ X & GDP per worker &% & %
Q) Witta i AT SR E o B E B URY B B 6 S8 R A e
(3) 3% 4m% 9 Solow Growth Model & AK Model #9 £ &

4. BN BERELT » X XA EASFEE # (marginal product of capital) EF > Bl a9 4 U RIEE
FEMBIL?HIBHE  HE - BEURRETCHARE? HH 04 (10%)

5. RBAMTIE B KK F - 3£ UAGEA]H dy 2 (Philips Curve)iF fa - #f B RAAR ~ I CER XK R 2]
6 B 4% - (10%)

6. Suppose a person has a utility function U = ¢ + 2hY/2, where ¢ is consumption and h is leisure. The
budget constraint is ¢ = wl +n, where [ is labor, w is wage and n is nonlabor income. The time
constraintis h + 1 = 1. (25%)

(1) What is the expression for the Marginal Rate of Substitution between consumption and leisure? (5%)

(2) Assuming an interior solution, please derive the labor supply function for this person. (5%)

(3) What is the minimum wage at which she is willing to participate in the labor force? (5%)

(4) How will her supply of hours worked respond to an increase in her wage? (5%)

(5) Interpret your result in part (D) in terms of the substitution and income effect of the change in the wage.
(5%)

7.Farmers produce corn from land and labor. The short run cost in dollars to produce y bushels of comn is

c(y) = y? + 1. The fixed cost is the rental payment on the land and is unavoidable. There are 100 identical

farms which all behave competitively. (25%)

(1) What is the individual farmer’s supply curve for corn? (4%)

(2) What is the market supply of corn? (3%)

(3) Suppose the demand curve of corn is X(p) = 300 — 50p. What is the equilibrium price? What is the
quantity sold by the individual farmer? (6%)

(4) Suppose the same cost structure holds in the long run, and that 1 is the fixed setup cost associated with
the plot of farmland (i.e. the rental value of the land in its next best use). Assume that the government
restricts entry, and the long run number of farms is fixed at 100. What is the economic rent on the land?
(3%)

(5) Suppose entry were not restricted and an infinite number of farms identical to the current 100 operations
can be supplied in the long run. What 1s the long run equilibrium price and what is the long run
equilibrium number of active farms? What is the economic rent on the land in this case? (9%)

B AR



